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01 X SHHMA=2LE L ,053,000 1,170,000 A 117,000
OXE ST (S0 AE (NS EHI) ,053,000
Xl 810,000
< 243,000
THUARSIASLANELY ,300,000 390,000 910,000
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01 XY 2 ZFH S| 43,000 0 43,000
O0EXNEadH 2 43,000
& ZHIXI2 AL 372,000 372,000 0
403 MtXISHHE X201 & 372,000 372,000 0
01 XM A=2EE 372,000 372,000 0
O&EHI X2 A 300,000
O T4 72,000
HEBAGRAZMLAFE 290,000 297,800 AT7,800
201 Yete | 145,000 159,000 A 14,000
01 At 2t 2/l 132,000 146,000 A 14,000
Ogpt=2Hl 130,000
O SMLINELAEZRAS 11,000
O MEMEE 119,000
2gsg 2,000
OoOAxB3 A=Y 2,000
03 A2 Z Hl 13,000 13,000 0
OANAHEE S &It 13,000
203 ¥ S =&l 5,000 4,800 200
03 Al Z= X Q2 & Yl 5,000 4,800 200
mlEE TP 5,000
308 XX EHSOIA 140,000 134,000 6,000
01 HIXNHHBNEES 140,000 134,000 6,000
Oofl S MM IS XA 20,000
OHASHAHL L2 ZAE2IE 120,000
CHE = ol )| & X 460, 100 322,500 137,600
Xl 428,000
< 32,100
403 MHXSHHSA=01& 460,100 322,500 137,600
X 428,000
< 32,100
01 XM A= XL 460,100 322,500 137,600
OdssAdAdIEX (NS EHl) 460,100
Xl 428,000
< 32,100
CEI 28 UM XA 549,900 546,000 3,900
= 423,000
< 126,900
403 MtXISHH S0l & 549,900 546,000 3,900
= 423,000
< 126,900
01 XM A=2EER 549,900 546,000 3,900
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OL-=:) 28 & A& 549,900
= 423,000
< 126,900

H&ESLEDS LM X2 11,700 15,600 A 3,900
= 9,000
= 2,700

403 MtXISHHE X201 E 11,700 15,600 A 3,900
= 9,000
< 2,700

01 AXISHHA2E = 11,700 15,600 A 3,900
OW& ELEDSE X W H X & 11,700
2 9,000
< 2,700

HEHLEO A ES ALY 4,118,157 2,765,000 1,353,157
= 3,649,000
< 469,157

403 XM S =0l A 4,118,157 2,765,000 1,353,157
= 3,649,000
< 469,157

01 X EHHMA=ZLE L 4,118,157 2,765,000 1,353,157
OB TESAMS 4,118,157
= 3,649,000
< 469,157

HOUYPETH 363,350 1,238,400 875,050
2 338,000
< 25,350

403 MtXISHH S =0l & 363,350 1,238,400 A 875,050
= 338,000
< 25,350

01 AXISHHA=2E = 363,350 1,238,400 A 875,050
Odetgd+x=x=d 363,350
= 338,000
< 25,350

o1 OF 0 & AL EH X A} 52,000 84,000 A32,000
2 26,000
< 26,000

403 XIS E X201 & 52,000 84,000 A 32,000
= 26,000
< 26,000

02 SIS0 U= AE AL 52,000 84,000 232,000
A A B AF 52,000
= 26,000
= 26,000

e (/)22 N 735,000 690,000 45,000

308 AHAIEHHSOIA 735,000 690,000 45,000
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01 AIKSHMEAMNEX= 735,000 690,000 45,000
dosd ()22 X< 720,000
OJogelotdEsd S K& 15,000
THECIXN S A EHALS 89,474 77,194 12,280
= 83,232
& 6,242
308 XXIEHSOIA 89,474 77,194 12,280
= 83,232
c 6,242
01 AIXSHMENMNEX= 89,474 77,194 12,280
OXA=SeXNE A2 =MHE=Z2 87,720
= 81,600
& 6,120
OXA=el NG =LA Z2HE A 1,754
= 1,632
& 122
HAAFDO A AR RS 151,008 141,904 9,104
= 116, 160
o= 34,848
403 XX SHHMS K201 & 151,008 141,904 9,104
= 116,160
o= 34,848
01 XS A2E X 151,008 141,904 9,104
O ADHEBAAE RS 151,008
= 116,160
& 34,848
= MEINSAEZ0AHE 40,000 45,000 A5,000
201 LBt 40,000 45,000 A5,000
03 A2 EH| 40,000 45,000 A5,000
OxMIIIBAEZSE0HH E & A 40,000
=AM EAE KR 1,500,000 1,000,000 500,000
= 750,000
= 750,000
307 QI2t0| & 1,500,000 1,000,000 500,000
= 750,000
& 750,000
02 QI2tAAMAIE E =X 1,500,000 1,000,000 500,000
O=atAH A 2 E TR 1,500,000
= 750,000
= 750,000
AEUHESAIAX AL 75,000 0 75,000
403 XX SRS K20 & 75,000 0 75,000
01 MXSHAHXNE2EE X 75,000 0 75,000
OASEHESOAIEX AL 75,000
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ZotAFTMAZIHEHX LAY 100,000 0 100,000
308 AHAIEHHSOIA 100,000 0 100,000
01 HXNHHBHELS 100,000 0 100,000
O3 AMAEAHEHRNELESFALS 100,000
HEXNEZHHE 1,500,000 1,000,000 500,000
403 XSS A=0l& 1,500,000 1,000,000 500,000
01 XM A2E X 1,500,000 1,000,000 500,000
OogXEddx 1,500,000
HHAMDPTESAHLXA 45,000 30,000 15,000
308 XXM SOIA 45,000 30,000 15,000
01 AXHHBIYEES 45,000 30,000 15,000
OolHtMDPE=sAHEX A 45,000
SANYUHERI XA 260,000 0 260,000
= 200,000
< 60,000
308 MtXIEHSOIH 260,000 0 260,000
= 200,000
< 60,000
01 HXNHHNBHEELS 260,000 0 260,000
OZEANSAHERI X R A 260,000
= 200,000
< 60,000
HAHAAEZS AHO 59,000 0 59,000
= 50,000
= 9,000
308 XAHXIEHHSOIA 59,000 0 59,000
= 50,000
< 9,000
01 HIXNHHBNEES 59,000 0 59,000
OFHAHES2AHOI 59,000
= 50,000
= 9,000
FEHYUAIHE RN 22,018 0 22,018
= 19,510
< 2,508
308 XXIEHHSOIA 22,018 0 22,018
= 19,510
< 2,508
01 AXHHIYEES 22,018 0 22,018
OHEHGASAE XX 22,018
= 19,510
= 2,508
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= 10,000
& 1,800
308 XAHXIEHSOIA 11,800 0 11,800
= 10,000
= 1,800
01 AIXSHMENMNEX= 11,800 0 11,800
OF Sk ItoEx 11,800
= 10,000
=} 1,800
HEHEsHZo TR H 17,773,074 14,158,260 3,614,814
= 56,880
N 10,286,000
& 7,430,194
HEtAl A 4,678,080 5,145,200 AN467,120
403 XX SHHS K20 & 4,678,080 5,145,200 AN467,120
01 XIS A=Z2E X 4,678,080 5,145,200 AN467,120
OXgHeEAE 2,173,680
JARIHEAA 2,030,400
OXNEHSHEAEL X 22 K& 264,000
O=2s&d 2 210,000
ol 2F 8t & X A} 600,000 600,000 0
401 Al HI L 204 HI 600,000 600,000 0
01 Al&H| 600,000 600,000 0
OXNEHEIIS2HELESHAISHE I} 600,000
HEHEHZ I REFA 22,800 22,800 0
201 LBt 9| 5,500 5,500 0
01 AP 22| H| 5,500 5,500 0
O2&H| 5,500
OHEHE2AZUTRAFZHRFAS A 5,500
202 o4 | 17,300 17,300 0
01 2L I 17,300 17,300 0
[JHEHES2AZAIZREHARZE N HI 17,300
NgosgHE 2,321,250 3,250,000 N 928,750
N 1,857,000
& 464,250
401 AlEHIZL 2 0HY| 2,321,250 3,250,000 N 928,750
Xl 1,857,000
& 464,250
01 Al&H| 2,300,590 3,221,000 A 920,410
OXegsHE (XNETH]) 2,300,590
Xl 1,840,472




M ox
40 5 4

AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2

< 460,118

03 Al 2 THHI 20,660 29,000 A 8,340
OXNLHSgALLUEI (RISEHI) 20,660
Xl 16,528
= 4,132

QIZHEAHL 3,750,000 4,023,750 A 273,750
Xl 3,000,000
< 750,000

401 Al HIZ 201 8] 3,750,000 4,023,750 A 273,750
Xl 3,000,000
< 750,000

01 A& HI 3,716,000 3,987,750 A 271,750
OB =AE(XNSESHI) 3,716,000
X 2,972,800
< 743,200

03 AlE 2 THHI 34,000 36,000 A 2,000
OB EALRUBI (XS EHI) 34,000
Xl 27,200
< 6,800

HE=0Z2el 562,500 603, 750 A 41,250
Xl 450,000
< 112,500

403 MtXISHHE X201 & 562,500 603, 750 A 41,250
Xl 450,000
< 112,500

02 S 2SUHHEAEE 2 E AL 562,500 603, 750 A 41,250
Od=o &2 (XNSSHl) 562,500
X 450,000
< 112,500
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= 56,880
< 17,064

308 XtXIEHHSOIA 73,944 56,160 17,784
= 56,880
= 17,064

01 HXNHHBHELS 73,944 56,160 17,784
OHEME0ISMREHEIRA 73,944
= 56,880
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01 XM A=2EE 82,500 87,000 A 4,500
OoEgsiotsxd 40,500
OoEdMEnssd 42,000
HY=ot=g 32t Y 1,300,000 260,000 1,040,000
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< 300,000
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< 300,000
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Xl 1,000,000
= 300,000
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At =& X A 420,000
HEHALSSUIIELEL 836,000 859,000 A 23,000
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01 AXHHBILEES 206,000 306,000 2100, 000
ORHME2HAL (HX) 206,000
= 206,000
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OYNE=E2=DIPIE=INE:] 7,000
202 04d| 22,300 18,800 3,500
01 2Ll 22,300 18,800 3,500
O X E=HREA A | 22,300
THEE S (o L= 4HDH) 1,620,500 1,669,500 A 49,000
HEAHH K= 1,620,500 1,669,500 A 49,000
06/07TEH T XYL D I SNUS M (HEAA) 1,620,500 1,669,500 A 49,000
705 Oll=2 32 24 1,620,500 1,669,500 A 49,000
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403 AXHHSXH=0lA 6,490,000 2,838,000 3,652,000
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H=2EHEJINL ALY 200,000 200,000 0
403 XX SHS K20 & 200,000 200,000 0
01 XIS AS2E X 200,000 200,000 0
Ol==2ESHe 200,000
HEES2HUHRAXILRQIXA 196,000 196,000 0]
o~ 196,000
308 XHXIEHSOIA 196,000 196,000 0
E~ 196,000
01 AIKISHHENMNEXZ 196,000 196,000 0
OoHE==2&HRAXRRAAHY| X & 150,000
o~ 150,000
OH==2&HAXQLRAEH A 46,000
N 46,000
oH B4 HI X AF2H CH & O | 27,000 27,000 0
308 XAHXIEHSOlIA 27,000 27,000 0
01 AIXSHMEMNEX= 27,000 27,000 0
[Jol & Bl XI AF2H CH 3l JH = 27,000
Hllcl=HIOSYLSSHXNALEXNA 27,000 27,000 0
308 XAHXIGHMSOIA 27,000 27,000 0
01 AIKISHHEMNEXZ 27,000 27,000 0
Ooimele=HI=2LESHILEXNH 27,000
SCoHSMY I E=HAY 70,000 70,000 0
308 AMXISHMSOIA 70,000 70,000 0
01 MIXHHIMNEEXS 70,000 70,000 0
OSZol MY I =HAS 70,000
HUESPAZUC ALY (B4 20,500 14,500 6,000
= 17,000
= 3,500
308 XX SHHSOIA 20,500 14,500 6,000
= 17,000
o= 3,500
01 AIXSHMENMNEX= 20,500 14,500 6,000
O ES A2 ALY (F AL 20,500
= 17,000
= 3,500
HUEBSPRAHAZZ ALY (X E) 255,000 364,000 A 109,000
= 210,000
& 45,000
403 XX SHHS K20 & 255,000 364,000 A 109,000
= 210,000
& 45,000
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01 XIS A2 X 255,000 364,000 A 109,000
OolYdEs R ALAS (XHE) 255,000
= 210,000
o= 45,000
O OFTH Ol 2 Kl Al & & X 447,000 447,000 0
403 XX SHHS K20 & 447,000 447,000 0
01 XIS A2E X 447,000 447,000 0
OAOHTHOH & K| Al & & X 447,000
HAOHOI I H & 22| =& A 24,225 22,300 1,925
201 et d9d| 9,725 9,000 725
01 AFR 2t 2| H| 9,725 9,000 725
Ogst=2H| 9,725
OHTIRALHLAEES 6,725
OMBEESEFRLUS 3,000
202 o4 | 10,000 9,000 1,000
01 2L HI 10,000 9,000 1,000
[JHCHO X H & 22l =& 0 4 10,000
203 € R F&d| 4,500 4,300 200
03 AIEH =X 2 F XY 4,500 4,300 200
[JHOIAEHIH R 4,500
ol XM Y D E ALY 182,000 130,000 52,000
Xl 140,000
o=} 42,000
403 XX S M S X201 A 182,000 130,000 52,000
Xl 140,000
= 42,000
01 AIXSHHMA2E X 182,000 130,000 52,000
COHSMY I HSIAIS (RN ESH|) 182,000
Xl 140,000
= 42,000
ol LMY I = HALS 200,000 0 200,000
308 XX EHSOIA 200,000 0 200,000
01 AIXSHMEMNEX= 200,000 0 200,000
[JHL MY I = HAS 200,000
NENHSSHME S AN = A& 42,000 0 42,000
308 XAHXIGH SO0l & 42,000 0 42,000
01 AIKSHHENEXZ 42,000 0 42,000
OXSHHAZSI M E AN = X & 42 000
HICEEE B X RAMEHAX 90,000 0 90,000
403 XX SRS K 20| & 90,000 0 90,000
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Do @3N JAEEH A 90,000
H==2FOI=HE L 120,000 0 120,000
403 MtXISHHE X201 & 120,000 0 120,000
01 XM A=2EE 120,000 0 120,000
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A3 sogEes SN EX0IR A ME
HE: ES0FAULASSUHS
Sl BARIEA CERED
AR .24 BB OEH) - NEAY - BAS 0 Ak o8 ﬁlf& HDS2
OXZLASZSRANES 50,000
OYEIILASISZHAEYI S 5,000
Xt ek & B 6,000
OZ2ENHFRFUHLAHE S AL 6,000
307 212t0| & 36,800 28,000 8,800
05 QIZtR &2 36,800 28,000 8,800
OFANEASA 36,800
401 Al HI YL 2 0HHI 20,000 50,000 A 30,000
01 A& HI 20,000 50,000 A 30,000
OUSUHUSEHSAH A EHAAE 20,000
405 XH&HF S HI 10,000 0 10,000
01 JHAte 2= E F S H 10,000 0 10,000
Oz U0SESAHAEZIIES 10,000
HESAAH(ESHR AL AEH) 1,089,570 880,605 208,965
oA A 957,174 749,961 207,213
ol 2AH| 957,174 749,961 207,213
101 @121l 935,334 729,021 206,313
01 2 616,646 546,468 70,178
OoJi=ss 449,720
OdsH 75,165,000 1 75,165
Oz sH 337,546
-e=2(1982) 3,485,000 x3H x12& 125,460
-730958) 2,448, 100& »3H x12& 88,132
-838(782) 2,038,000 x 1 x12& 24,456
-93 (62 8) 1,761,100& »2H x12& 42,267
-HRAHTEE) 2,384,600 x2H 128 57,231
odz2x¢ 337,546,000 «1/12%50%*23] 28,129
O&FZ=gotdt= 8,880
- 204 0l Ab25E 0] Bt 110,000& x2H »12& 2,640
- 154 0l 4204 0] 2¢ 80,000& x2H x12& 1,920
- 109 0l &H15E 0] B¢ 60,000& *x1H x12& 720
- 5 0] AH10E O 2F 50,0002 x6H x12& 3,600
O=% 97,278
Oa=<¢ 1,715
-HeRsRALY 1,715
52U 3,485,000& x4 . 1%*x1H «12& 1,715
OJHEAE L 36,240
- EsY 24,240
ol < Xt 40,0003 *11H*12& 5,280
N PIE 20,000& *11H «12& 2,640




A3 sEiogERe SN ESOFAEME
M. HNSHBH(ESOHSAMASIAEH)
Sel: o2y (B9 ®R)
AR .24 BB OEH) - NEAY - BAS 0 Ak o8 ﬁlf& HDS2
=2 PIE| 60,000& *11H x12& 7,920
) PE| 100,000& *3*12& 3,600
- JIEFIVS 20,000& x20H x12& 4,800
- AHESH =Y 6,000
NSst 500,000 x3H 43| 6,000
-F0EsE Y 500,000& x1H x12& 6,000
OS2 2Y 8,160
-FEZ2REY 480
93 40,000& x1H ~ 128 480
-ELXYE2Ld D=l dESLY) 5,760
52 50,000& x1H ~12& 600
- 6,72 30,000& x5H x12& 1,800
- 8,92 20,000& *3¥ ~12& 720
JbAZ (D& AF) 50,000& *1H x12& 600
JEAFZ2 (DAL 30,000& *3¥ x12& 1,080
DRSS (AHE DAL 20,000 *3H x12& 720
otz (28d) 20,000& x1H ~12& 240
-EFYURAY(ARYLI L) 1,920
AR 80,000& x2H x12& 1,920
OAZIA2RY 51,163
-yHME 11,0743 *11H = 10A| 2tx 128 14,618
-x =2 11,0743 *11H *x25A 2Hx 128 36,545
O™ HZAH| 130,000& *11H = 12& 17,160
OY&E F Oty 337,546,000 *1/12%60%*23] 33,755
I E AtH]
412,711,000 *1/12%86%*1/30%x 19 18,733
03 2IAHAZZXNHE = 318,688 149,660 169,028
OESHBAIS 22 201,488
oJN=3 1,392, 760& x6H ~12& 100,279
oan=2 1,392, 760& *6 *400% 33,427
o=2s52Y 43 %14, 000R »6H x12& 4,032
Od Xt (1,392,760 /209+8) x6 2 « 15 4,799
Osge22sY
(1,392,760 /209+8)*1.5%x3L 6 x 122 17,273
Oons< 8,400
bl < Xt 40,000 x4H « 128 1,920
R PIE! 20,000 x4 x 12 960
- =M A 60,000& x2H x12& 1,440
0 (PE! 100,000& 1 x12& 1,200
JIEFIL S 20,0003 x12Y x12& 2,880
OXHsH 28X 4E 4,000
- SsHM 500,000& x2H 43| 4,000




—_

w
Ed
o
ol
<
k

<ar

= A

iy
)
]

oJ
—=
S

uo
i

<N

-

D
Ed
]

o | O [N QNN QNI BN eN| (@) o
o | O 0 | v | v |[|w.v o
o |5 S I~ ©
n0 ||~
KIo
E|
B}
o O < S S o o | O o
< [ < [ S | © | © (=] o | O [e6)
(o> )] O | O | o | < o | O <
< |8 g|g|¢ls = oo |
H3r ==~ |
uilEd!
Pak=
NV O O O O O O O[O | | O O O O O | VW | W | WOl oo OO © O O O O O O O OV U oo oo oo oo o o o |l oo |l o| o
OO Al O © O O O O | ¥ |8 © o &« o/l —|—m © O O O O O o o o — — O O O o oo o o |o |l o |
— 0¥ dS S oo S o Belen— S S S S S8 o IFINann I E TS S|ISeels
M~ < 00 OO0 — ANl AN A [ o OO0 0 < | AN M 0 OO0 T — AN OO M M 00O M~ ™~ — [0 o | <
=R B IR || - © ©
ar
<
=3
ol o ol oW
or oo gy
x X X
X0 3 B0 9 &
8l © © *x ©
XoE g X
: NEgh
1 s8¢ 8 5
< T o 8 o <
I+ 0 o~ o no B
= * =4 B =
5 ) - Kk 4 =]
— < Ia) Ok ol Kk
= OUI K0 3D T ol o-
o] o il il o W 3l
— N R0 a1 s = 0l )
oF § T 3 B 2 5 M0 0 al
ol o KA ELS =] = 5 Uk ok R0 3 <
. LS 0 R | s T |3 W 00 S ~ D =] | =
= W = KA = 50| K 3l m 3 | < <F A 30 0 o T S| R
%0 = 8o o = <F | M Em m o o0 |/ 30 UH 0K = Ok S AN | KE
. O O K © oM ©& © ~ & o) oll 0k O Ho O Ho - | W |oF
= O d RMO(RC O O O O ol |< O O Ho O S| [O] 3D
< < | D — | = o] al | — ™
I+ o |o - o (o o o |o o
Y] R0 Y] eV Y]
i :
=
|




—_

i)
z
ol
3D

<
k

<ar

= A

iy
)
]

oJ
—=
S

uo
i

<N

-

D
Ed
]

<

n0

Kio

Hl w

600

H3r
Wikd
RIS

480

3,000

1,800
1,800

Off &t 24

480
480
3,600
3,600

1,800
1,800
1,800

KJ
Kt
oF
ol

e

02 &t

t

5

[J20Z 0l

0

<
o+

204 A

R0
0
<+
o+
ol
i
il
Rr

-

KO
<

052 (




Al A

o o

Ol &b A

=
=

Al

A
il

dl &

K

_1_|
I RO
M) W op)
RIR
ol <+ 3D
ol WS
B <

W o <

M & oF
< RO T

<

n0

Kio

Hl w

2,091,675

1,777,110

148,428

1,000

1,000

H3r
Wikd
RIS

5,278,693

3,392,165

1,834,372

9,000

4,250

4,250

2,000

2,000

1,750

1,750

120,000

120,000

120,000

Off &t 24

7,370,368

718,130
3,171,600
3,480,638
5,169,275

r

H

718,130
1,440,600
3,010,545

fir

H

1,982,800

688,130
1,294,670

fir

H

9,000
9,000
4,250
4,250
4,250
2,250
2,250
2,250

fir

fir

fir

500
500
500
1,500
1,500
1,500
2,000
2,000
2,000
2,000
2,000
2,750
2,750
2,750
2,750
2,750
120,000
60,000
60,000
120,000
60,000
60,000
120,000
120,000
60,000
60,000

fir

fi

i

rr

fir

fi

i

W

i

H

fir

H

Ells

Il

i

R0
o)
<
<k
T80

WH

0H

oD

-

<)

X

80
1[5}
J
oll

el

Al
OF

01 At

00
<+

1)
oll

ulo

Ho
00
oF

ak

ol

Ok

OPNI=d

-

00
<+
30
0

ulo

00
<+

nO
O
E|
=
o
Ho

=

(OPNE=

w0
no

Kt

202 044l

01 SLHOYI

22 SSHX

o

no
<0
mi

o]
oll

ulo

Mo
O
E]

=

=

Ho
MO

-

oo
@@
K0
<
<+

307 21201 &

Ki
iy
&l

<0
0
~

oJ

OYEINXHOIS =2




(Al

A

dl &

K
_)_v
R0
o of
IR
<+ 3D
S

B <

W o <

fir & oF

< RO T

< o o o o < < o0} o o
— (e} (e} o o — — Al o o
© — — < < © «© ~ < <
Ko
El
Ee)
o o
WH3r
uiled]
k=]
< O <t o O O o o o O O O o O O O o O O O o O O o O O o o O O < O < < < O < QO O o O O o o o
— ™M O M~ MO o o O I O o — O O o O O O o O O o O O o o O O — O W — — O W0 Al O A o O O | O o o
© NS NR[T @ DOAHBemS OFR®S S SO RAIS SR NN L NNYTST|IS FOIS S S
@D O o < — (e} — — — — @ [ap I aN] — — — [QVE o N o — A O N — (aV] — —
o AN
al
<
=
ar
=)
Bl
: n
el =
< a0
I- 0 Ulo
=2 o £l ol
. Ryl = s
~ IoH l i
= OF 10k 00
o] 00 E] o oF
= P <+ oJ El <
oF = = 80 5] ok
) T = A0 =0 30 T o
. o =R E 0 ok 31 R0 no T 0 0k
N ME o <k + = Edl B! <0 o<k
z |3a EIRETINE 30 20 <+ 5 iy E] 3R
5 30 o ot O o O O E=) = < ol =3 ol O
5 R0 < 0 O <) O oll 0 H < 0O
. = N = = 2 = =
o+ < 139 ® K
R 3
rr
A




A= oot =2E M gll=4dH
HE: CAESMBYDS
S MUY XA (&2 &)
S 2N BB (BH) - SN - B2 0 Ak o8 ﬁlf& HDS2
= 700
== 300
OJsg+g 1,000
OusLdAEHS 1,000
2 700
== 300
301 Bt A= 29,428 0 29,428
= 20,600
= 8,828
09 HAIAHIBAZ 1,028 0 1,028
OEXNENNEEESAHS 1,028
otz s 1,028
= 720
= 308
11 JIEtE2 A= 28,400 0 28,400
OEXcsXgosasd 28,400
= 19,880
& 8,520
HANWIIAHEZ 12,000 0 12,000
= 8,400
& 3,600
301 dEtE A= 12,000 0 12,000
= 8,400
== 3,600
11 IIEtE A2 12,000 0 12,000
OAHIIHES 12,000
= 8,400
= 3,600
NEEs =R 7,000 0 7,000
= 7,000
405 XHorF S| 7,000 0 7,000
= 7,000
01 JHML = EFSHI 7,000 0 7,000
OXNESHHH 2L S 7,000
= 7,000
PIoHMHE KM 30,000 30,000 0
= 30,000
206 T 24 20,000 20,000 0
= 20,000
01 & bl 20,000 20,000 0
ISP HEE 2L 20,000
= 20,000
307 212t0| & 10,000 10,000 0
= 10,000
05 A2t E = 10,000 10,000 0




A= SHALI=R M 0 =4H
HE: CAESMBYDS
S N =P (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
OzZgugz2ugd 10,000
= 10,000
HEXNZ XA E3S| O = 12,000 15,000 A 3,000
201 et 12,000 15,000 A 3,000
03 & Ar2 I 12,000 15,000 A 3,000
OHEXN =X &3 12,000
Ot E 2l Al ALY 91,000 100,000 A9,000
207 RO 91,000 100,000 A9,000
03 A& &2l 91,000 100,000 A9,000
O==&35237¢ 45,000
O%olgdx4ds 36,000
OSHYEHEHA P 10,000
etFE S AMZ XA 1,090,000 950,000 140,000
= 545,000
< 545,000
307 21201 A 1,090,000 950,000 140,000
= 545,000
< 545,000
02 It S AHE L 1,090,000 950,000 140,000
[N R NN 1,090,000
= 545,000
= 545,000
A I=2 S ALY 30,758 10,758 20,000
201 Let24E] 10,758 10,758 0
01 At 22l 10,758 10,758 0
Oger==&H| 10,758
Ol =ESMERUSLEESME 10,758
203 YR =&l 5,000 0 5,000
03 Al F=XH R =AY 5,000 0 5,000
Ot =2=ZR2F8Y| 5,000
204 MR AH| 15,000 0 15,000
03 SHZRFHI 15,000 0 15,000
Ooe sl 50,0003 25 «128 15,000
AN G AA LA =00 270,000 270,000 0
207 A RO 27,000 270,000 A 243,000
01 A3l 27,000 0 27,000
OZAES 27,000
401 A& HIZ 201 I 243,000 0 243,000
01 A& HI 241,250 0 241,250
OZHNL A RS AL 241,250




M ox
40 5 4

= - — SHE]|
22N I BI(EH) - HRAY - BES e bl D=2t
03 AIE 2 0HHI 1,750 1,750
OSHNLMA RS AIEL2UYI 1,750
HEMEHRHR 3 S ALY 270,000 270,000
207 A RO H| 27,000 27,000
01 289 27,000 27,000
OXZAMES 27,000
401 AIEHIZL 28I 243,000 243,000
01 A& Hl 241,250 241,250
Ol =FOIALAETASAIA 241,250
03 AIE S THHI 1,750 1,750
Ll EFOIAL AT S A &R 1,750
FTALHS Al = 4 245,000 509, A 264,153
Xl 169,600
= 75,400
LA FTECH2L S 25,000 59, A 34,153
201 Lete | 2,000 32, 30,000
01 At 22l I 2,000 27, A 25,000
Opt=2Hl 1,000
OANEBUHFERU=SLESESMHES 1,000
28+ 1,000
ORI+ 1,000
207 R4 2l 23,000 20, 3,000
03 A&l & 24l 23,000 20, 3,000
OZQYUEME LI 18,000
OANEMNE LI - 5,000
LA BA KA SN (M EE) 80.000 130, 50,000
Xl 64,000
< 16,000
207 Ao & H| 30,000 76, 246,000
Xl 24,000
< 6,000
03 Al & 1 HI 30,000 76, A 46,000
OYHASAMAMIXM P (XS EH]) 14,000
Xl 11,200
< 2,800
OYAHANEEZAMNLAIEES(XNEZH]) 16,000
Xl 12,800
< 3,200
307 gl2tol & 50,000 50, 0
Xl 40,000
< 10,000
02 It M AHE L 50,000 50, 0




M ox
40 5 4

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
OZY0 S SWAAZINLALS (X SZHI) 50,000
Xl 40,000
< 10,000
FRHHNSEECEIMN(ISES) 40,000 90,000 A 50,000
Xl 32,000
= 8,000
207 RO 40,000 88,000 A 48,000
Xl 32,000
< 8,000
03 A& &2l 40,000 88,000 A 48,000
OdsY0d=4 (NSS! 25,000
X 20,000
< 5,000
OAEZAHARS (RS ZHI) 15,000
Xl 12,000
< 3,000
HYrarBgelHYs 8,000 10,000 A2,000
201 -4l 8,000 8,000 0
03 &Ar2 I 8,000 8,000 0
OBl FEns 8,000
D2USASEZMLAS 92,000 0 92,000
Xl 73,600
< 18,400
201 Let2 | 2,000 0 2,000
Xl 1,600
< 400
01 At 2teltl 2,000 0 2,000
Ogpt=2Hl 1,000
OANEHZRASLEZSHHS(XNEZHI) 1,000
Xl 800
< 200
O=2g8=¢ 1,000
Odoeaa=(XNSEZHl) 1,000
Xl 800
< 200
207 RO 90,000 0 90,000
Xl 72,000
< 18,000
03 A& &2l 90,000 0 90,000
OHEAIZ XA (KIS <EHI) 30,000
X 24,000
< 6,000
OMEMNSALIN XML (XS EHI) 50,000
Xl 40,000
< 10,000
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A 56,180

3,000
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SoHAL =R M 0 =4H
CANE MBS
=4S oM 2| (&)
CRA - FH - B(BH) - MEMY - BYS 0l &t o il Bl RE2
< 400
02 =224l 10,000 10,000 0
A& ZHl s Xl 10,000
OAEFHSKAH(XNSEZHI) 10,000
Xl 8,000
< 2,000
207 A O] 58,000 85,000 A 27,000
Xl 46,400
< 11,600
01 2284 20,000 20,000 0
OZ242LHE (NS EH) 20,000
Xl 16,000
= 4,000
03 A& &2l 38,000 65,000 A 27,000
OFYAHSANAS AL (NS EH) 38,000
Xl 30,400
< 7,600
307 glz2tol & 50,000 50,000 0
X 40,000
< 10,000
02 PIZtEHAHEE 50,000 50,000 0
DS T2 1AL AL (NS TH) 50,000
Xl 40,000
< 10,000
XH o Of & 2t 2| 96,000 69,700 26,300
201 L2l 36,000 39,000 A 3,000
01 At 22l 4,000 4,000 0
Opt=2Hl 4,000
OS2 7L 4,000
02 23224l 32,000 35,000 A 3,000
A& & Hl s Xl 5,000
OXNETHEHI7AZHES 5,000
Oxt&detd] 27,000
OXNE &7 FH 27,000
401 Al HIZ 201 Y| 60,000 0 60,000
01 A& HI 59,460 0 59,460
OdSEI|I B A2l S 59,460
03 A& =2 THHI 540 0 540
O EIIBA=ClSAIE R0 540
BHASIE SN MAMES AL (HAEES) 180,000 210,000 A 30,000
Xl 144,000
< 36,000
201 Let24d] 52,400 92,400 A 40,000




A= SHALI=R M 0 =4H
HE: CAESMBYDS
E sASoHE e (&)
= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
Al 41,920
< 10,480
01 At 22l 52,400 92,400 240,000
O3l 2,400
OALAPEFULESSHES (NS EHI) 2,400
Xl 1,920
< 480
Ogxt=s 50,000
OMNSZEANLdsSLdNE (NS EH) 50,000
Xl 40,000
= 10,000
206 2 I 50,000 70,000 A20,000
Xl 40,000
< 10,000
01 =8l 50,000 70,000 A 20,000
OAMNENZ 2L (XS EH) 10,000
Xl 8,000
< 2,000
OEAME, &  BASIAA (XS ZH) 40,000
Xl 32,000
< 8,000
207 Ao 2| 55,600 46,000 9,600
Xl 44,480
< 11,120
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